Loto — Corrigé :

unit Unitl;

interface

u=ses

Windows, MNessages, 3ysUtils, Classes, Graphics,
Grids, 3tdCtrls:

tvpe

TForml = class (TForm)

grille: T3tringGrid;

Labell: TLabel;

1lbTir: TListEBox:

LabelZ: TLabel;

lbChoix: TListEBox:

Labeli: TLabel;

Labeld: TLabel;

RemplirGrille: TButton;

LireGrille: TButton;

ComparerListes: TButton;

Arret: TButton;

Tiragelotto: TButton;

procedure FemplirGrilleClick(Sender: TObiject):
procedure ALrretClick(Sender: Tohiject) !
procedure LireGrilleClick(Jender: TObiject):
procedure TiragelLottoClick(Sender: TObhject) ;!
procedure ComparerlListesClick(fender: ToOhjesct)

private

{ Private declarations }

public

{ Public declarations }

end ;

rar

Forml: TFormml:

implementation

1¥R

procedure TForml.FRemplirGrilleClick(Zender:

rar

*. DFM}L

i,j:integer;

begin

For
for

i:=0 to 6 do
j:= 0 to 6 do

grille.cells[i,]j] :=inttostr (i+7%]+1)

end;

procedure TForml.LireGrilleClick(3ender:

rar

i,j:integer:

bhegin
lbchoix.clear:

for
for

j:=0 to 6 do
i:=0 to 6 do

Tobject) :

Controls,

v

Tohject) ;

Forms,

Dialogs,

if grille.ecells[i,j]= '' then lbChoix.itews.append(inttostr (i+7%34+1))

end;



procedure TForml.TirageLottoClick (Zender: Tohject):
var 1i,],tir:integer;
distinct:boolean;

begin
randomwize;
1bTir.clear;
i:=0;
while i < & do
hegin
tir:=random(49)+1:
distinct:=true;
for j := 0 to i-1 do
if 1lbTir.items[j]l=inttostritir] then distinct:=false:
if distinct then
hegin
1lhTir.items.append(inttostr (tir) ) ;
i:=i+1
enid
end
end:

procedure TForml.ComparerListesClick(Sender: TObject) ;
var i,]j,count:integer:

bhegin

count:=0;

for i:= 0 to 5 do

for j:= 0 to 5 do

if 1hTir.itewms[i]=1lbChoix.items[]] then count:=count+1:

labeld,.caption:=inctostcr (Count)
end;

procedure TForml.ArretClick(Sender: TCbhject):
begin

applicatcion.terminate

end:

end.



